Addition word problems 
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Here are Class 2's crayons.
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They are given a new box of 10 each
day for a week.

How many crayons do they have at the
end of the week?
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Annie has 12 marbles.
Ron has 13 marbles more than Annie.

How many marbles do they have
altogether?
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Complete the pattern.

15+ 85 =100
20+ 80=100
25+75=100
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Asma calculates the answer to this addition.
45 + 32

She works it out like this:

SO0

Grs+3+2=14
045 +32=14

Do you agree with her answer? Explain why.

Show Asma how to find
the correct answer using
a part-whole model.

Then, show Asma how she
could have checked her
answer using a different
method.
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Can you create a calculation where
there will be an exchange in the ones
and your answer will have two ones and
be less than 100?




